FIXTURE CYLINDER ASSEMBLY

SPRING LOADED
BALL PIN

RATCHET CLIP HEAD

RATCHET CLIP SLOTS

(2> PIPE SUPPORT

3
(4> 1/4-20x1l/2 SUOCKET HEAD SCREW

FIGURE 1 = VERTICAL PIFPE MOUNT

j ~kIMOU:
aEAESAEE-OMMN:
m~OE=U-¢l=13=




FIXTURE CYLINDER ASSEMBLY

i

SPRING LUOADED
BALL PIN

(4> 1/4-20x7/8 HEX SCREW

4> 174 LOCKWASHER
RATCHET CLIP HEAD

RATCHET CLIP CUTOUTS
(NOT USED IN HORIZONTAL
PIPE SETUP

MOUNTING PLATE

SLOTS FOR RATCHET HODKS

HORIZONTAL MOUNTING BRACKET

(2> PIPE SUPPORT

(4> 1/4-20x1/2 SOCKET HEAD SCREW

FIGURE 2 = HORIZONTAL PIPE MOUNT

j ~“KIMOU:
aEAEBAEE-ONN:
m~OE=V-¢li=13=




CHAIN WRENCH

INSTALLATION VIEW

FIXTURE CYLINDER ASSEMBLY

SPRING LOADED

EXTENSION MOUNT ASSEMBLY BALL PIN

EXTENSION ADJUSTING NUT

7/16-14x1.5 HEX SCREW RATCHET CLIP HEAD

RATCHET CLIP CUTOUTS

TABS \ (NOT USED IN OFFSET

v~ Y & PIPE SETUP)

aC M ‘

\~(‘ \—' ‘ ' "“

é@ §\45~ W\
S0 (4> 1/4 LOCKWASHER
|
\" .l@ (4> 1/4-20 X 1/2 HEX HEAD BOLTS
WK
7/16 LOCKWASHER PIVOT EXTENSION WELDMENT

7/16=14 NUT
SLOTS FOR RATCHET HODKS

(NOT REQUIRED WHEN USING
CHAIN WRENCH>

FIGURE 3 - OFFSET PIPE MOUNT

EXTENSION PIPE MOUNT

3 ~KIMOU: ’
aEAE AAEE=OMMN: AEATECHNOLOGY 1
m~OE=NM-=¢f=13: .




LEAD SHIELD HDLDEQ\\\\\
o SECTIDN\\\\<Eizzzz::22izii>

LEAD SHIELD
PLATFORM

RATCHE T HOOKS PLACED
INSIDE CUTOUTS

RATCHET STRAP

RATCHET ASSEMBLY

FIGURE 4 - SHIELD HOLDER INSTALLATION

j ~kIMOU:
aEAESAEEOMMN:
m~OE=NN=ci-13-




